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Math Olympiad for Classes 9" and 10"
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Note: Read all the questions carefulty. Each question carries 2 marks. Put a tick (v')
mark on the correct option out of four given options for each question:

(1) feast fo5° faozT g5 AGF 97
Which of the following statement is true:
a.93d AYIs Rt fBa ygs Aftmr I
Every integer is a whole number.
b. T8& ufanm #iftm fEa Ryes Afanr 31

Every rational number is an integer.

¢. 39« miuforw Aftmr fa sRsfeg Afr T

Every Imrational number is a real number.

d. ooq TRsfea Al ¥ nrufons Afanr 31

Every real number is an irrational number.

(2)50+{3-(C2-1}—-25=

(b) 50

(c) 4

(3)FactHs 3% ©t fan Just f§9 gn gnar fagzna Jer J2

In which quadran
(@). iz IV

tsabcissa of a

(b). I3 Nl

oint 1s always negative?
(C). =z 1l (d). | w13 IV

(4)fozg fg feu® o ufo? § wH @ AT yuz Jz <t Agee Uz &4

Find the probabilty of getting 'A

(a5

(b) g

2
C—
)5

on the given spinning wheel. g%
1
(d)3 /0N

(5)-3m+7 f&T &t AztE fa A -m*+7 yuz 42|
What should be added to -3m+7 to get -m*+ 7.

(a)-m*+3m

(b)-m? - 3m

() -m?*+3m+14  (d) -m*-3m+14
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(6) 4p*- 36pg+81q°T=auT T |
Factorize: 4p®-36pq+81q°

(a) (2p+90q)( 2p-9q)

(b) (2p+9q)( 2p+9q)

(c} (2p-99)( 2p-9q)
(d){4p+90a)( 2p-9q)

(7) fE ST T WT »F H39€S Al 39 3 597899 96 | ferAer nieu ferm usT a9
The radius of a_circle, whose circumference and area are numerically equal, is

(a)1 unit Eb) 2 units (€) = units (d) 2w units

(8) Ifseg=______ 3Fhted’
1 litre= dm?
(a) 10 (b) 100 (c) 1000

101

(9) 7T x"*'+100 & x+1 & T A3 A< 3T Tal J<ar
If x'*'+100 is divided by x+1, then remainder is
(@) 0 (b) 100 [(c) 99] (d) 101
(10) fe”auEETmTf‘E—%%p?’ T fearsgingt T foae faag ©f ot Saret usT a9 |
Volume of a cube is %pB cube units. Find the length of its edge.

(a)§p3units kb) %p units | (c) Sﬁp units  (d) %p units

1) o2 a2 939 § 2y X uz™ &9 X Io iifznr 9 faus aus @3 3

By observing the given figure, find which of the following statement is false:

(a)£1 mi3 £4fmde AGHY dE I& |

Z1 and Z4 are vertically opposite angles.
(0)Z1 »i3 /5 Q& & Jul A3" =8¢ IS | :
Z1 and £5 are linear pair of angles. < )/ 1 >
: )t
/ 3

(€) L1 M3 £2 &I< oE I5|
Z1 and Z2 are adjacent angles.
(d)z2 3 /5(Aug AsHY aF I5|
Z£2 and £5 are vertically opposite angles.
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(12) UfgsSmit U7 nigs Aftmret o Hoqs 39
Mean of the first five prime numbers is
(a) 5.6 (b) 4.2 (c) 5.8 (d) 5.2

(13) Jo oo 5" fags mitegs x-2y=4 & f¥q I5 J7
which of the following is a solution of equation x-2y=47
(@(02) ()20 (o)(1,1) |(d)(4,0)

(14) &3 o2 fozg Re s fIgm os ¢
How many triangles are there in the given figure®
(a) 16 (b) 20 (c) 18 [Kd) 24

(15) 37 939 S5 nifonm3 Aftmr 39;

Find the unknown number in third figure:

A A

(a)33  (b)30 (c) 21 (d) 27
(16) #dI AB||DE, #BAC=35° w3 /CDE=53" 3t /DCE ¥ ¥& uzT \

If AB||DE, #BAC=35" and ZCDE=53" then find the value
of ~DCE.

(a) 35° (b) 88° |(c) 920 (d) 75°

(17) fi&d AABC = AQPR d< 3t Jo ot &9 faoz™ At &
If AABC = AQPR which of the follwing statement is true?

(a) A+—>p (b) Be>R (d) B+—>Q

18) f&3 a2 {939 <9 fig A,BnS CITI OIW Ja7 3 AfFs
35 Ry g5 »=2 £ZBOC=30"n3 £A0B=60"J IHGT T ABC S’
fewe dx9 3 f€a 99 fag DAfE3 9= 3T ZADC Uz F9 |
In given figure A, B and C are three points on a circle with
centre O such that/B0C=30%nd ZAOB=60°. If D is a point
on the circle other than the arc ABC, find ZADC.

(@) 90° (b) 45° (c) 80° (d) 30°
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(19) fEF13Ht. Bt U3t du &% &arge 3 7His 3 12Ht. Goret 3 AfEs fusal s
udge! J1du € viad 3 USt © Jow fAg € gdt us &9
A 13m long ladder reaches a window 12m above the ground. Find the distance of the
foot of the ladder from base of the wall.

(a) 5m (b) 7m (c)12m (d}) 13m
(20) wigt & &3t B3t e vdt Ag® 59

Fill the blanks in the given number series:
7 ’ 31 -1; '51_
{a) -7 (b) -8 (c) -9

(21) &3 a2 939 K9 Iag Sfamr wiazT &
TR foar I 7
In the given figure what does the encircled
data represent?
(a) HuHs(mean) (b) gg®  (mode)
[(c) H1Gar (median)| (d) feA3< (Range)

(22) wiydt ¥ Ucds oo I8 ¥ AES 9.
By observing patterns fill in the blanks:
CLIP:DNLT::GOAT:
(a) HPCX(b) HQDX (c) HQDW

(23) £ & erHme fersw fao firor 37

75

What kind of decimal expansion 3—; has?
(a) A3(Terminating)
(b) MHZ niegst (non-Terminating Recurring)

(c) WHZ wiE-»=I3t (non-Terminating non-Recurring)
(d) feget f&5° &=t &<t (None of these)

(24) T ifenrt T vifE3s T miguz 8:27 ¥1 §TaT T AT T U3TSH T gy o
Jar?

Ratio of volumes of two spheres is 8:27. Find the ratio of their surface areas?
(b) 4:9 |

(a) 2:3 (€)2:9 (d) 2:16

o 1 ~ =
(25) wawﬁwzvuﬁnmaa?faal

Rationalise form of numbe

1
st vz
f _
(022 : (@)

V52
10
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